EARAROBEEIERT — 2 N— IBISH —F

20121283168 (B) 12EE%4H

7R [l L e EEE R
[AE4£] 1% :9,000H”  23%:23,000M  3#%&:11,000MH  437%&:8,000H”  53%&:500 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. o > KRR :25. 24— . - MEEX (SH)
, s UT— K-k > 3 3 1(2_5)1 3-2-4-2 | 39.6 2 (432) EEP@&E
X:a-x>J0> B:UT-KFq4T7> HR&t U7-F
o BRERE : ~6-2— = AREER) (SH)
2 2 L—oH1RKHT T 4 5 ;.0 1(7251:; 5-6-2-1 | 39.5 1 (4_738) 5;33?%"13
RiveNyghTr BiLAIFA KAy T HET7— L
. Lk GIN : -3-2- - E#EEE (B
3 6| XNIAF—a7 4R (12215/26) 2ees 402 ’ ?_785) 71 E 1
b= NTy R B TIAYT EiEsgae]
R | R 7S . W — FFRA (FE)
ali|1| pavrz 410 Asmxﬁ 1(/7251:) 6-5-6-5 | 39.8 7 :_354) S
R:pYREITO-) B:X—-K-SuL/> X145
s . 4t 7 | FEED 1:26.2 8-8-7-6 | 40.0 | — 4 485 | FHIA (BHD)
5/5/5/ V77—~ 56.0 2 1/2) (1a) | FERIBSE
R:d—IWR7Y2—Ib B:7zILES Al &
N BRI :26. -10-9- . — RIFFES] (SH)
6lzlg| 71onyz #H 5 AN 1(32/%3 10-10-9-9 | 39.9 5 (4+538) g%ﬂé
L:Hrsa—Lib B4 /- N7 7 — L
= . B 7 | BEERRNE 1:26.6 1-1-1-3 | 41.5| — 8 446 | BIFFEE (BH)
] 4 O—7X4—kE— 54.0 (11/2) (+5) #H) N—bF—PyTEES
LHgThI— BTNV Tr A A% 1ERR
. FEEE . _7_8_ — BEiEfEE (S5
8l7lg|2TE>%am i 5 a8 1(/]2?‘:? 7-7-8-6 | 40.4 10 (3:910) %iug%
R:FHF—rZb=—U— B:XFvZ>FVadq FE%S
S 4 6 | EIUTAE 1:26.8 10-11-10-10| 40.1 | — 11 438 | FTHBE (&)
98|10/ 1 f—=F vy 7 56.0 W (-p) |BEEF
R:v>Ny&rh7r B:FHZISvva R B AR
o i 4 | AAHH 1:27.1 3-4-4-6 |41.5| — 6 475 | FRIA (S30)
EE 7 7#/?/#— 54.0 (1 1/2) -7 FEMSF=
L:TFvIk=0 B:TIXAH-I BE f5—
N . FESEE S . -9—11— — NEHEBE (BH)
1lgliy| ®rx7z0 44 s 1.(237).7 9-9-11-11 | 40.9 9 (5_127) N5z
LO—YXA2 x4 B bINT— B#H4s
® I —F—@EBIERL
13=7r= 4,6,(3,7),2,1,9,5,11,(8,10)
2a=7r= 4,3,6,7,1,2,9,5,11,8,10
ga=7"= 4,(2,6),(3,7),1,5,9,8,10,11
40—+ — 2,3,(4,6),1,(5,7,9),8,10,11
[ N3
BB 3 500/ 714K 2-3 120H % E 2-3 110H 3EHE 2-3-6 320M
8 B 3 100M 3-6 280M B & 2-3 160 K31 3-2-6 2,560
2 1009 2-6 200M B H 3-2 580
6 1904

ABICOVWTRDTEEERROODE. TR LIV,




